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General Instructions :

(1)  The question paper comprises two Sections, A and B. You are to attempt both the sections.

(it) All questions are compulsory.

(iit) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be answered
in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be answered
in about 30 words each.

(vit) Question numbers 7 to 18 Section A are three-marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on practical
skills. Each question is a one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical skills.
These are to be answered in brief.
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HOT - A
SECTION - A

1. 39 TeahiEid &1 99 R G fafan fogs o) § o wee T § 1

Write the name and structure of an alcohol with three carbon atoms in its
molecule.

2. 1 B ® 9& g URYF TAERIRMEN =] FI%T om0 &1 Sl ¢ 2 1

What happens when a mature spirogyra filament attains considerable
length ?

3. 3N WA &1 aifd fown &1 foog &1 =2 1

The depletion of ozone layer is a cause of concern. Why ?

4. IR gl ot Afrea T § 39 29 atet U0 &1 AW fafaw | 3w gfed gri s 2

Y 7T YR ITa fman a1 €, SHeh! 9T ity |

Name the type of mirrors used in the design of solar furnaces. Explain how
high temperature is achieved by this device.

5. ‘‘TOUeh] STl T AT? TH ST<io 9§ 3Td: TAFE Al 3R qafeRor 1 2
fohe YehR oY g1 ?

“What was Chipko Andolan” ? How did this Andolan ultimately benefit the
local people and the environment ?

6. ‘'Siamd 3ud ®I S 9 dfvgen S0 A 817 9 wUA & Yfie o faw RO 2
Hig

“Burning of fossil fuels results in global warming”. Give reasons to justify this
statement.
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THIsHh T i fAfaiad o iy Affepan & TEEHS GHISB i ¢
(2) QIfeTH; (b) TIFSTT TESIHES ; (¢) TIATA
ek ATUTRAT § o Y@ IdE A1 AW o fafE

Write chemical equation of the reaction of ethanoic acid with the following :
(a) Sodium; (b) Sodium hydroxide; (c) Ethanol.
Write the name of one main product of each reaction.

N NN

frelt Tfeeee iR fodll e M1 &1 ¥9H 317 93, 9 C,H,0 g1 et
foral S Tohal ©1 3! HLEATT 3R 9M fafgu) foagm & o & 39 91 &
9 & G4 H 3eel@ BT |

An aldehyde as well as a ketone can be represented by the same molecular
formula, say C3H;O. Write their structures and name them. State the relation

between the two in the language of science.

HE T X MY Tad RV & dR e iR 16 9w H feerd T

(2) X H GAShal SaeHl i G A7 ST GASThal HRd ST |

(b) X’ I TEEISH & |l AfufeRan gr1 o4 it &1 o1v] A fafaw qen saet
s M-fog | Eifau |

© T X &1 T fafgu qon Seore wifse ff I8 9 Ui € AU S1ug ¥

An element ‘X’ belongs to 3'4 period and group 16 of the Modern Periodic

Table.
(a) Determine the number of valence electrons and the valency of X’.

(b) Molecular formula of the compound when X’ reacts with hydrogen and
write its electron dot structure.
(¢0 Name the element X’ and state whether it 1s metallic or non-metallic.

fRel T X ® SAHE W& 35 U1 THH 2l HI WA 18 § 1 X’ HI AT
& 3R SHeR Soag-fomame faf@n | X i 9 e, oTad e 3R Sarsehd]

F1 Ieoi@ off I |

An element X’ has mass number 35 and number of neutrons 18. Write atomic
number and electronic configuration of X’. Also write group number, period
number and valency of X.
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12. SEl & S % Ged § 30 B 9 % ' gAeeHad’ (YASiAA) hi ATl

13.
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S ! IRy fafEe | TRis ol Jufe &l a9 & 3 98 fag gaRr

TRl Al © ?

Define reproduction. How does it help in providing stability to the population
of species ?

HIT | F&9 | U HIfWC F TEST 919 95 Hiew Sidl § gAegHad’ &t

gferan foFg JohR 9¥0%1 Bidt © ?

Explain the term “Regeneration” as used in relation to reproduction of
organisms. Describe briefly how regeneration is carried out in multicellular

organisms like Hydra.

() <fiTw 9 g 3c0e Hafa § fafiemn gferi=r 89 & < wRol wt g

AT

G) oM@ ¥ Aferd 9w ‘A’ =1 AW fafeu )

(i) ‘A’ 9T ‘B q% TRE YHR TgA1 © 2

(iii) ¥ ‘C’ o1 T feAfEm |

o N

Gv) ‘D’ g 3ifera w1 F8=F % Iv=a R Bl © 2

P.T.O.



(a) List two reasons for the appearance of variations among the progeny
formed by sexual reproduction.

(1) Name the part marked ‘A’ in the diagram.
(1)) How does ‘A’ reaches part ‘B’ ?
(1) State the importance of the part ‘C’.

(iv) What happens to the part marked ‘D’ after fertilisation is over ?

14. Hed 7 T R {9 YR <0 T A0 @ad §9 9 9T 8 | 2

How do Mendel’s experiment show that traits are inherited independently ?

15. ‘AEA & Qe faem’ SR e’ TR g2 21 36 ®Ud & e
TSI |

“Two areas of study namely ‘evolution’ and ‘classification” are interlinked”.
Justify this statement.

16. fwet <du gry o gfafars, ardfaeh, Sl 3iR—1 smad &1 §1 9gfe yfdfers
1 U0 F A 40 em T, O fova wal feog 82 afe foa =01 @ &Y R 20 em
MG X g s, @ gfdfems sel am?  39e SW ) gfie & faw s
ST qen fora 1 72 frafq & fou famor emm ifem
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The image of an object formed by a mirror is real, inverted and is of
magnification — 1. If the image is at a distance of 40 cm from the mirror, where
is the object placed ? Where would the image be if the object is moved 20 cm
towards the mirror ? State reason and also draw ray diagram for the new
position of the object to justify your answer.

17. I8 T & fou foet fpammam @1 avie #ifve 6 5 gor @ s g0 3
forarfed vard ekl Rt 311 weigd fUsH g0 QAAifSid shdeh U4: vod Tehml ITd
fohal ST Whal §1 T30 YT o WagH & AAre ol <2 & fore fmor o
oft @ife |

Describe an activity to show that the colours of white light splitted by a glass

prism can be recombined to get white light by another identical glass prism.
Also draw ray diagram to show the recombination of the spectrum of white
Light.

18. WA & fshamardl 4 Sia HUEd o Sid 4 &l g0 e § Yifad fean g1 AFa 3
BN Hid o THIHT e A S9-HUsd & S Ud oTod 31a9dl o Hogid
T 1 STH-IW W GO §1 AHG 5N W ghoa idea IRl 1 |
had IHHT AT IA STl hl AADR &, dfcsh Yol & FHE wifal ol
AARN T SATHRI Th HeE! 5l 3Tk el & 'Sl Fdd’ &l Alhd IS ©
A & Bl § TAeR & gfa e S HY @ §, a1 39 gAe B o Sher
W § 98 UH-USE & UAER0 & TR & Ak & fau oft weR &
@7

(a) TH ST ATV KT TRET HEAT Rl STETIF ¢ ?
(b) =T U] & FRUg f9er & fau &8 &R el Fe-ufedl &1 vga
fafeT |

(¢ Y% W HEUE! g Ui S ol ki = IR S ek former™
‘1 Fa’ H GfRd 9 T
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The activities of man had adverse effects on all forms of living organisms in
the biosphere. Unlimited exploitation of nature by man disturbed the delicate
ecological balance between the living and non-living components of the
biosphere. The unfavourable conditions created by man himself threatened
the survival not only of himself but also of the entire living organisms on the
mother earth. One of your classmates is an active member of ‘Eco club’ of your
school which is creating environmental awareness amongst the school students,
spreading the same in the society and also working hard for preventing
environmental degradation of the surroundings.

(a) Why is it necessary to conserve our environment ?

(b) State the importance of green and blue dust-bins in the safe disposal of
the household waste.

(c) List two values exhibited by your classmate who is an active member of
Eco-club of your school.

g I AT P AHH Hig H,S0, % o T4 fhy 51 W *E o7 Afirew
‘Q I © Sl TR S i SURYd W BESSH § Hehald hich Hig WqW
AR R 9961 ©1 ‘R’ 1 T Y], & o T, HeA SEATFIREE & < 9] o
S o dF 310 oA 81 P, Q AR R &I YeAIHC AR wiwfaq stfafswansti &

e TR fafaa |

A carbon compound ‘P’ on heating with excess conc. H,SO, forms another
carbon compound ‘Q’ which on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound ‘R’. One molecule of ‘R’ on
combustion forms two molecules of carbon dioxide and three molecules of water.
Identify P, Q and R and write chemical equations for the reactions involved.

T TR 7 SHH! WA 1 FUH Hife | et e /ST % YR H 35

HTIT T Sedd HITT |

What is placenta ? Describe its structure. State its functions in case of a
pregnant human female.



21. fawm =t gty fafgw| o fog YR 81 €2 90 i fe Staws feg 5
YhR faehm & Tmefa H yH yeqh R ¢ 2

Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

22, 12 cm TIRY SO o Teda <dul g0 forddll formar 1 e ufafers oM & fag we1 5

T R |

() < % FEA far @t g w1 P IR T =R 2

i) o4 aren gfafora gs § fom @ Sier g siyer 9817 36 Yo H
yfdafea 1 <o o fore feeo s Eifaw)

(i) =9 foma o1 gfafoms el am, afs 38 Tdo & A 24 om W R W@ e
TMC? 3T IW i e & forw 39 fegfa & foag ot feeo s Eifeu

ST o @l § 4gd, T&F hihd 3R ashal s i &gfqdl &l o} M

It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 cm.

(1) What should be the range of distance of an object placed in front of the

mirror ?
(1) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this case.
(111)) Where will the image of this object be, if it is placed 24 cm in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.
Show the positions of pole, principal focus and the centre of curvature in the
above ray diagrams.

23. (a) TIeg o9 & HIIH g i gRumT fafEay | 5
(b) TR TR A9 # RHT T 20 cm T4 cm SAE F fHdt fam a1 g4
o9 & YRR s § forat g W @ S =nfen foh sueRt gfdfars of|

o

Y 10 cm S0 W 97| gfdfores 1 wEs o 9fewfea wifsw)
(© ST feafa & fau gfafars s <oiv & for s difew
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(a) Define optical centre of a spherical lens.

(b) A divergent lens has a focal length of 20 cm. At what distance should an
object of height 4 cm from the optical centre of the lens be placed so that
its image is formed 10 cm away from the lens. Find the size of the image
also.

(¢ Draw a ray diagram to show the formation of image in above situation.

SIHUEA YA F1 § 7 T URESA T SUAN hich Ad & T YThids
AT i SARAT HIFT

(2) N 1 feAfeqmn
(b) Afm PEiea iR faafEa g

YA I h R0 & fau Mg Eifeu |

What is atmospheric refraction ? Use this phenomenon to explain the following
natural events.

(a) Twinkling of stars

(b) Advanced sun-rise and delayed sun-set.

Draw diagrams to illustrate your answers.

T -

SECTION - B

s S FIHIRU AT < Affshan g0 *l Th 92 98 il foqend o=
IR R ot foler o9 W S/l €1 9% I8 Y&T0 it § o

(a) et foeng o3 ® #iE gRadd &l g1 3R oe foleqyq ot 9the 71 St ©
(b) o foeng o3 d &iE aiadq T8l &idr IR e faeudq 93 aa & S § )
© et foreng o3t § g afady &l & iR o foems 93 e & S ©)
@) <Fl & foaemg = & T 4 w2 9iedq 6 e
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27.

3111

A student puts a drop of reaction mixture of a saponification reaction first on

a blue litmus paper and then on a red litmus paper. He may observe that :

(a) There is no change in the blue litmus paper and the red litmus paper
turns white.

(b) There is no change in the red litmus paper and the blue litmus paper
turns red.

(¢) There is no change in the blue litmus paper and the red litmus paper
turns blue.

(d) No change in colour is observed in both the litmus papers.

TN § A 9 & oy 36 #1 7o 3iR 5 &R =1 | ¥gH 91 o g
I SR &R &1 A fea T dF 9 e 99y SugEd W 2

(2) TXUS & qa 3R HicHTH TESFRS

(b) TRYE &1 da IR GieTH TRSIHEE

(0 TUE F 4 AR Hifeaq TRSIHFIAEE

(d) TE F dd AR Hfcqam TSRS

For preparing soap in the laboratory we require an oil and a base. Which of

the following combinations of an oil and a base would be best suited for the
preparation of soap ?

(a) Castor oil and calcium hydroxide

(b) Turpentine oil and sodium hydroxide

(¢) Castor o1l and sodium hydroxide

(d) Mustard oil and calcium hydroxide

3Tk foamed & TH-98 | WA & faU Sfavaes #6R 9d SUaied 7@l T |
e foamer™ o Iuctsy deul & J1< fU w9l § 9 9% T 9qg g e
UId TS hl STA oIl | SieM T, 98 39 HOR Sfd o < -

(2) Gifeqd FARES, hifcgaHd FARES

(b) T FREe, Hifsdq FREs

© dHifegd FaREe, THifem wREs

@ Hfcgan wREs, TEE FREe
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In the neighbourhood of your school, hard water required for an experiment
is not available. Select from the following groups of salts available in your
school, a group each member of which, if dissolved in distilled water, will make
it hard :

(a) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride

(¢) Sodium chloride, magnesium chloride

(d) Calcium chloride, magnesium chloride

AT H W o S ok Y07 1 &0 Hd T fREl B A 199U HA7ER
gur o fofes 9T st STl e o § Y= o |

SfISITeRUl, 37=d:hold, Joligy, TiFY, SfISUe gR, a7 |

9 A 1 G0 R & qvEd ek q8ed 3 38 fewof &6, TR 3H | Faw
T 9 & w T S g H ¥ wE 9w wifew

(a) SISIERY, HATER, SSTqs (b) 3T<I:hed, HAIFL, SSUE R

(¢ SISTq, YigR, SiSIeo] (d) AR, STSTe, JigT

A student while observing an embryo of a pea seed in the laboratory listed
various parts of the embryo as given below :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three correct parts from the above list :

(a) Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle

(c) Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

Ife Y = & Tl el #§ 39 S wfesdl % ¥ ® g9 & fau wE S
ekt WA weTd €, o oy e | fRd g ?

(@) TSR IR Hel (b) 3T TR IRt =<l

(0 3] 3R AT @ T4l &R e

If you are asked to select a group of two vegetables, out of the following, having

homologous structures which one would you select ?
(a) Carrot and radish (b) Potato and sweet potato
(c) Potato and tomato (d) Lady finger and potato

12



30. f<U U srada U w1 GiAhe wIRT T F@ FH & faw o9 gdo g feet 1
& T &1 gfiafora fret o8 W ®wefad & 81 96 W 9w gidafa fom
* g § Wed

(2) UYd Ufafda i e g g

(b) 3o AR BT Bl |
(© Hium 3R BT BT '
@ G AR srcafue B g R

To determine the approximate value of the focal length of a given concave
mirror, you focus the image of a distant object formed by the mirror on a
screen. The image obtained on the screen, as compared to the object is
always :

(a) Laterally inverted and diminished
(b) Inverted and diminished
(¢) Erect and diminished

(d) Erect and highly diminished

31. M ST ST AU TARTAT hl B o &Y o 7 Wt Himerdl ol sarenm &1 1
gfafera ITa o9 g1 U8 W WwRfad & faan B o1 Afg s foess weica
IR P § TR A WA I T THARR fohtoll 1 I 98 W Hieniad
A T YAE <, 1 ATH I TULT hi AT T fh 3T -

(a) T HI AT | Tq i 3R LR |
(b) oG HI oISl | TE H R B |
(© G I edrer @1 g wi fown o G|
@ oG IR 7S A A gd BT SR T |
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Suppose you have focused on a screen the image of candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
suggests you to focus the parallel rays of the sun, reaching your laboratory
table, on the same screen, what you are expected to do is to move the :

(a) lens slightly towards the screen
(b) lens slightly away from the screen
(c) lens slightly towards the sun

(d) lens and screen both towards the sun

39 9T gEmTeen # fafse emaad Sl (i) % folu &g & ®id § oA areft
Jertel fRTor &1 9y sfed d §, q°T TS Y0 § qeAedl 3Tqad vl
(« v) 3R 7l 01 (Le) ot ATOQ &1 3TF F&T0N & YR MY Tl Feapd 25
g fw

@) <i¥S® /r ¥, W Le b AT IR T
b) £iBRIE 28 T Le F AW SRR T
© <i¥S % LoV, Wy Lr F AW IR T

d) ZiBRIE e W, W £r F AW SRR T

In your laboratory you trace the path of light rays through a glass slab for
different values of angle of incidence (< 1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (£ e).
On the basis of your observations your correct conclusion 1is :

(a) £11s more than Zr, but nearly equal to Ze
(b) zi1s less than Zr, but nearly equal to Ze
() Ziis more than e, but nearly equal to £r

(d) ziisless than Ze, but nearly equal to £r

14



33. = fou U oM@ H WE 2ifhd w0 FH H T2 1

(@) i 3R ze ®) <A 3R D

© i, e 3N /D d sr, ZA A D

In the following ray diagram the correctly marked angle are :

(a) Ziand Ze (b) <A and £D

(¢0 A, Zeand «D d «r, ZA and £D

34, HIE DM Th I AfSTq TRSNSH FEiHe 900 Ties § fa 7C tdAfgs o/ 2
A oo €1 3 @ g Beon &1 g 9y, 9 S8 v g dreft
sttufopan & foma ® oot Al 9% o foaean =fsu| BF arel I stfvfsma

&1 TGRS eI of fafay |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical equation for
the reaction.

3111 15 P.T.O.
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HTE B I H B I TAfiTeh S o fafys =on ol shyer S arelt Tt
RS T Y01 X @ § 1 39 Gfhan o1 W faf@u) St g 9% e 1A €,
30 3faa w9 °, @ iEe iz |

A student is observing a permanent slide showing sequentially the different
stages of asexual reproduction taking place in yeast. Name this process and
draw diagrams, of what he observes, in a proper sequence.

2.5 cm TS T B f9E 10 cm WHE g0 & fFE 300 A9 F THIH F 0’
¥ 15 cm T W @ g1 79 a1l yfafe &t fefa 3R des 9@ &6 & fag
fortn o Eifau | 39 3@ ¥ YR &= ‘07, §&F ®ihd F a1 gfafawst st

S4Te 3ifRd TS |

An object of height 2.5 cm is placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find
the position and size of the image formed. Mark optical centre ‘O’, principal
focus F and height of the image on the diagram.
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